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MATHS (SECTION-A)

Which of the following is an irrational number ?

2 22
(1) 3 ) £
(3)05 @ 5
Which of the following is a rational number ?
(1) = (2)e
® 3 @ 5

Express 1.8181....... in the form of % where pand q

are co-prime integers and q # 0.

02 @2

18 19
3) — 4) —
) 5 S
Which of the following is a polynomial ?
4 2
1) 5%° +—-2 2) 5 —3x+4
(1) 5+ @ >

3 1

22 4x2 :
B) T3 @2+ + K
x 2 x2

1.

f=ferRad § 9 &9 WY U uRay g g ?
2 22

M3 @ =

(3)05 4) s

frforRae § 1 @1 W ve Ry e & ?

(UK (2) e

® @ 5

1.8181...... ?b"r% WU H S DN el p AR q TE—3M1

Ui & 3R q#02 |

21 20
M % @

18 19
@ @ -
PR 3 1 B w1 agua & 2

2
0! 5x3+£—2 (2)—2—3x+4
X X
3 1
22 4x2
B 7t 3t @2adsx?+nd

X2 x2

V% B P [o17 O /" Space for Rough Work
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tecnd

5 If p(x) = 3x* - 7x + 5 then value of p(1) + p(-1) is | 5. 3 p(x) = 3x* - 7x + 5T p(1) + p(-1) BT AF IR

equals to : T

(1) 16 (116

(2) 12 (2) 12

(3)14 (3)14

(4)18 (4)18
6. Factorize: x* - 4x +3and 2x> - 3x + 1. 6. TGS BINTY : x° - 4x +33MR 2% - 3x +1.

If their LCM and HCF are P(x) and Q(x) then, find afg 961 LCM 311R HCF, P(x) 31k Q(x) &, I

the value of P(-2) + Q(-2). P(-2) + Q(~2) &1 A9 SITd HIFY :

(1) 78 (1) 78

(2) -78 (2) -78

(3) 36 (3) 36

(4)-36 (4) -36
7. Factorize: x> - 2x> - 5x + 6 7. TOFES DIRNIT: X - 2x% - 5x + 6

If it's zeroes are «,3,y then find the value of o« B B v a LY

— =t —
o B By, o,y ﬁmwa’ﬁ’ﬁmﬁ a v By T
oo v Yy oo &1 AT T BT |
1 4 1 4
(1) 3 (2) 3 () 3 (2) 3
1 4 1 4
(3) -3 (4) 3 @) -3 (4) 3

V% Brd & o1y OiTE /" Space for Rough Work
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8.

10.

If quotient is P(x) when x* + 2x? - 7x - 12 is divided
by x + 2 then find the value of quotient when P(x)
is divided by x + 2.

Mx+2

(2x+3

B)yx-2

(4)x-3

What is the co-ordinate of the point on the
y-axis, 3 units below the origin ?

(1) (0,3)

(2 (2-3)

(3) (-3,0)

(4) (0,-3)

Find the equation of the line which passes through
the points (1,2), (3,4) and (6,7).

(Mx=y

Qy=x+1

B)yx=y+1

@y=x-1

CLASS-IX

10.

afe x* + 2x% - x—12?€[x+2ﬁﬁrﬂﬁﬁﬂﬂﬁq’{
HRTHE P(X) & AT P(X) BT x + 2 31T %1 IR RTh ol
@1 I 8T |

M)x+2

(2)x+3

B)x-2

4)x-3

ot fig 9 3 s1E - y-31e1 R g @1 FAdens ®n g
2

(1 (0.3)

() (2-3)

(3) (-3,0)

(4) (0,-3)

g (1,2), (3,4) 3R (6,7) A T[SIRA ATl V=T BT FHIBROI
ST BHIFTY |

Mx=y

Qy=x+1

B)x=y+1

@ y=x-1

Y% P12 P [o77 S8/ Space for Rough Work
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1. Match the column-I to column-Il N -1 B wRI-1l A e S —
Column-I Column-Ii - -1l
P) G, -1) (A) x-axis ®) 3, -1) (A) x-3%et
(Q) (-4, 0) (B) ¥ quadrant (Q) (-4,0) (B) I"? Tgrter
(R) (2,3) (C) IV™" quadrant (R) (2,3) (C) IV Trgerfer
(S) (-2,4) (D) I** quadrant (S) (-2,4) (D) I’ =gier
(MP—->C, Q—>A R—>B S-—>D MP—>C Q—>A, R—->B, S—>D
2QP->C, Q- A, R—-D, S—B 2QP->C, Q- A, R—-D,  S—B
(3)P—A, Q—-C R—->D, S—>B B)P—> A, Q-—-C R—>D, S—B
4P->C Q—-D, R—-C, S—B 4 P->C Q-—-Db, R—->C, S—B
12 1f (x,Y,) satisfies the system of linear equations : | 12 If (x,,y,) &b FHARUM x +y =4 3R 2x -3y =5
X +y =4 and 2x - 3y = 5 then find the value of @ [T DI AT PRAT &, Al X, - Y, BT A 1A
Xy = Yo PHITTY |
0 @ % 0 @
5 5 5 5
(3) 4 4) 5 @) 4 4) 5
13.  Find the distance between points where the | 13. 39 fdgaii & 4= @1 g1 S1d B ST8] gD FHIBROT
graph of linear equations 3x - 2y = 12 intersects 3X - 2y = 12 &1 U1 2T 31l Bl ufress Hrarg |
the co-ordinate axes.
(M 27 ) 2415 M) 247 @) 2415
(3) 345 (4) 213 3) 345 (4) 213

Y% B @ o1y S8/ Space for Rough Work
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14. Solve:ZX_y
58 81

() 3857385

58 81

() ~3g5" 385

() ~385385

“ﬁ_ﬁ

15.  Simplify : (@*b%)°
(1) a°b®
(2) a®p°
(3) a32b21
(4) a21b32

8

X+ 2y

= (@°b)°

=3 and

CLASS-IX
12 6
- =1 |14
X+2y 2X-y
15.

S 3 8 _ 2 6 _,
2X—-y  X+2y X+2y 2X-YV
58 81
M 385385
81
) 385 385
58 81
3) ———,—
@) 385385
.
( ) 385" 385
el BIY : (a*b?)° + (a%b)°
(1) a’b®
(2) a°p°
(3) a32b21
(4) aZ1b32

Y% Bl @ o1 S8/ Space for Rough Work
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Tabert Exploring ELE Hotioral Clympind-2085

5543 x10y5715 5543 x10y/571
6. Simplify : - xxty 2274 16. R DI : —x Jxty 2zt
2 1 2 1
(X_Ey_i ] x 3 Y_E )
(1) 3x%y® (2) 3x°y*z? (1) 3x%y® (2) 3x°y*z?
(3) 3x%y’z (4) 3xy*z (3) 3x%y’z (4) 3xy*z
3 11 3 o1
45x6 33x2?x44 45x6 33x2?x44
7. Simplify: 7 7% 3 1 7. WABNN: & 7 3 1
33 x5 5 55x10 > 33 x5 5 55 x10 >
(1) 3 (2) 10 (1) 3 (2) 10
(3) 5 4) 4 )5 (4)4
3_3x62x\/‘£§ 3_3x62x\/‘£§
18. If P =xV2 then find the |18 a2 L =x\23 af x @1 7
1 RN ] I
52 x 3|— x 3 x33 52 x 3|— x 3 x33
5 < (15) 55 % (15)
value of x. ST DI |
(1) 28 )7 (1) 28 27
(3)14 (4) 6 (3) 14 (4) 6

Y% P13 ® 177 STT8 / Space for Rough Work
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CODE : 2509 CLASS—IX
19. The weekly wages (in Rs) of 30 workers in a factory | 19.
are:
830, 835, 890, 810, 835, 836, 869, 845, 898, 890,
820, 860, 832, 833, 855, 845, 804, 808, 812, 892, 885,
835, 835, 836, 878, 840, 868, 890, 806, 840.
Draw a histogram for this using class intervals as
800-810, 810,-820 and so on.
Which group has the minimum frequency ?
(1) 840-850 (2) 890-900
(3) 820-830 (4) 810-820
20. Rahul asked 20 of his friends about their favourite | 20.
colour. The pie chart below shows the data he
collected. What percentage of his friends picked
blue ?
(1) 30% (2) 10%
(3) 40% (4) 20%
21.  Add the following : 21,

(2a+5b +7c) and (-5a - b - 3¢)
(1) -3a+4b+4c (2) -3a-4b-4c
(3)-3a-4b+4c (4)3a-4b+4c

CLC
tecndi=

L oot bapicring LG btion Ctympic-225

pL
T HRE § 30 D! o1 AT dd- (Fa #) 8

830, 835, 890, 810, 835, 836, 869, 845, 898, 890,
820, 860, 832, 833, 855, 845, 804, 808, 812, 892, 885,
835, 835, 836, 878, 840, 868, 890, 806, 840.
800-810, 810,-820 STl g1 3[Rl BT IUART hl
SYANT IS AP 1Y T BECUTH 1Y |

b e @1 Jmaf = B ?

(1) 840-850 (2) 890-900

(3) 820-830 (4) 810-820

g 71 Y 20 ST A I YAGIET W & IR H
BT | Fr1 Y Y uTS =1E S §IRT Ueb b Y e
D ST T | D e UL Gl 1 Airef 31 g1

?

Blue Red

144“108"
720
(1) 30% (2) 10%
(3) 40% (4) 20%
f=forRad &1 I o -

(2a + 5b + 7c) AT (-5a - b - 3¢)
(1) -3a+4b+4c (2) -3a-4b -4c
(3)-3a-4b+4c (4)3a-4b+4c

Y% P12 P [o77 S8/ Space for Rough Work

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 7



22

pLiy

25,

gérc‘; das CLASS-IX
Find the value of 5p” - 4p (-p + q) 22
()5p* +4p+4q  (2)9p° - 4pq
(3) 9p° + 4pq (4) 5p” - 4pq
If a + b =11 and ab = 30 then find the value of | 23.
(@a-b).
(1) 2 )1
(3) 3 (4) M

The pie chart shows the distribution of grades
obtained by a group of students in a test. The
number of students who scored grade Cis twice

3
the number who scored grade B, and T of the

students scored grades B and C. Find the angle of
sector which represents grade C.

NP

(1) 108° (2) 144°
(3) 216° (4) 288°
Simplify : LI
Py e 1P
(1) X7+ x° (2) x*™°
(3)1 (4)0

24,

25.

CODE : 2509
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5p® - 4p (-p + q) I A ST BITAY

() 5p°+4p+4q  (2) 9p° - 4pq

(3) 9p” + 4pq (4) 5p® - 4pq

afg a+ b =19 ab = 30 1 (a - b) & A 14
DIfSTY |

)2 @)1

3)3 (4) 1

uTs TS U URIedT § Bl & U G §RT U IS &
faaRoT B 2T 8 | IS C UTH HR-1 dTel BTAT Bl W]
US B UK R+ dTel BIH1 &I A& I SR 8, 3R TS

B 3R Us C Ui &y drol Bl &) T&T &l %%"I
SUEUs BT I S1d BN ol I C B Frefid Heal

Tl

(1) 108° (2) 144°

(3) 216° (4) 288°
1 1

el BT - 1+x%® +1+xb‘El

(1) x* + x° (2) x>

(31 (4)0

Y% B @ o1y S8/ Space for Rough Work
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26. Inacodelanguage, PASTEUR is code as TPRUASE.
How would SEVENTY be coded in that language?
(1) ESYTEVN (2) NSYTEVN
(3) ENVETYS (4) ESYETNV

27. Inacertain code language, ROUBST is coded as 61.
How will FORTUNATE be coded in that language?
(1) 124 (2 n4a
(3) 141 (4)142

28. Four different positions of the same dice were

shown, in which six faces are numbered from1to
6. Select the number which will be on the face
opposite to the face with number 5 ?

(Mme6

(3)1 (4) 3

26.

27.

28.

T G AT #H, PASTEUR @1 & TPRUASE & | 39
HTYT H SEVENTY @1 fhd YR dedg fohan Sigm ?
(1) ESYTEVN (2) NSYTEVN
(3) ENVETYS (4) ESYETNV
Uah fAf¥ad @l w1 H, ROUBST &1 61 % w4 H dIfsd
faam =11 2 | 3 A9 H§ FORTUNATE &1 &8 BIfsd

o ST ?
(1) 124 (2) N4
(3) 14 (4) 142

T & U &I TR ITAT—31elT gy fewrs e,
ORTH ©: BaAdl IR 19 6 db GEIN 3ifdhd & | 59
ERT BT TIT PN Sl &A1 5 Tl BeAd & fAuRId arel
Hald IR BT ?

() 6 )2
31 (4)3

Y% P13 ® 177 STT8 / Space for Rough Work
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29.

30.

tecnd=
Two orientations of a dice are shown. Which option
shape can this dice be obtained by turning along

the lines ?

[ &) [ &|
mlel#]w]  @@]s]%]
$ #
G| G
(] (G|
o [slal#]  @[t]e]%
@ 5
G &

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements are true even if they seem to be
at variance from commonly known facts, decide
which of the given conclusions logically follow(s)
from the given statements.

Statements : Some actors are choreographers.
All choreographers are producers.
Not a single producer is director.
l. Some actors are directors.

Il. Not a single actor is a director.
1) Only conclusion | follow.

2) Only conclusion Il follow.

3) Conclusions | and Il follows.

4) Either conclusion | or conclusion Il follows.

Conclusion :

— — — p—

CLASS-IX

29.

30.

CODE : 2509

17 November, 2024

TH 9 @ &l i fewmg g ¥ | g g fha
e i @1 @Rl & e Aredx urd fba
ST HhT @ ?

[ & B
M) (@] # | %] @ |@]$]|%]
$ #
G G
%) (G|
e [s[al#]  @[t]a]%]
@ 5
E &

fag Y weEl 3R fspul @ ervyd® ug | I8 AT
g T @werAl 7 €178 SFaR 9 8, 9ol €1 I8 AT
HU A 1 q2d1 A =1 gl gt 8 g & fag g
eyl § & B ey UET o1 difes w9 |

3TRIRTI/UTEA Bl © |

HU : FO AT, TR 2 |
Tt FeRTeR, fHfar 2|
T ) femfan, fdere S 2 |
BT : | {o I Fdwe 2|
II. Ta i S1fA=ar, s T8 2 |
(1) Saat fspd | STRIROT e ¢ |
(2) Dact frsp |1 SITART PR & |
(3) femef | 371 11 STERYT SR |
(4) a1 a1 Frap |, a1 fohw Fosamd 11 QTgaRoT v € |

E 10 ) wgafearefl” Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500
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31

32,

33

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements are true even if they seem to be
at variance from commonly known facts, decide
which of the given conclusions logically follow(s)
from the given statements.

Statements : Some instruments are electronic.
Some electronics are tubelights.

l. Some instruments are tubelights.
Il. No tublights is an instrument
(1) Only conclusion Il follow.

(2) Neither conclusion | nor Il follows.

(3) Only conclusion | follow.

(4) Either conclusion | or Il follows.

If in a row of 35 children M is 15th from the right
end and there are 10 children between M and R,

Conclusion:

then what is the position of R form the left end of
therow ?

(1) 15th (2) 5th

(3) 30th (4) None of these

The number of boys in a class of 36 students is
twice the number of girls. There are 13 boys in this
class before Sita, who is 19th in the class. Then
how many girls are there after Sita ?

Mms (2)6

3)7 (4) 8

CLASS-IX

31

32

33

ﬁqwfﬁaﬂisﬁ?ﬁmﬁqﬁﬁmqﬁm—gw
g T @werAl 7 €178 SFaR 9 8, 9ol €1 I8 AT
HU A 1 q2d1 A =1 gl gt 8 g & fag g
eyl § & B ey UET o1 difes w9 |

3TRIRTI/UTEA Bl © |

B : T UGV SATE D 2 |
BV FAFR D TIIATSE B |
HROT: | HY IYHI YIASC © |
II. BTE TYIATST SUBRT L] ¢ |
(1) Daet e 1| SITART HRAT B |
(2) 7 a1 =By | 51 2 11 SR BRAT & |
(3) Bac fsh | TRV HRT |
(4) T Q1 fspe | 27 1| SRR Rl |
IfE 35 F=ai af ufdd # M ai RR | 159 w9 01 2
derm M 3R R & §19 10 9= &, ol Ufdd d R &1 918 RR
Y BT W 8 ?

(1) 15af (2) 5df

(3) 30df 4) 379 | BIg el

36 faenfiai @) wen # dedl B T dsfhal B
R ) QAT 8 | 39 Pl H 13 e Wil & U B,
STIepT o et 7 omiTen 1941 8 | a1 el & 91 H foheel
sl g 2

RE 2) 6

@) 7 (4) 8

Y% P12 P [o77 S8/ Space for Rough Work
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34.

35.

36.

CLC
tecnd'=
Seven friendsE, F, G, H, |, J and K are sitting around
around table facing towards its centre. F and | sit
immediate left and rigth next to G respectively.
H sits third to the left of G. E and | are sitting next
to J. Who is sitting immediate right of H ?

(1)K (2 F

(3)H (4) E

Seven person Gaurav, Manish, Rahul, Anish, Meeta,
Priyva and Preeti are sitting in a circle. Gaurav is
the neighbour of Manish and Rahul. Anish is not a
neighbour of Meeta and Rahul. Preeti is a
neighbour of Meeta and sits second to the left of
Anish. What is Rahul's position ?

(1) Right next to Preeti's left

(2) Between Manish and Gaurav

(3) Fourth to the right of Priya

(4) Second to the right of Anish

If A'is 50 m North-West of B and C is 50 m North-
East of B and D is 50 m South of B then who is in
the East direction of A ?

M A (2B

3)C (4)D

CLASS-IX

34.

35.

36.

CODE : 2509

17 November, 2024

ard A E, F, G, H, |, ) 3R K U@ 7Tl 7l & uRRa: g9
T DI 3R AW TIAR 93 © | F 3R |, T G &
81 1Y 37 AT¢ I H 93 2 | H, G & dTY TIAR oI
WIS |ESR, ) S FAH IS YL | H B S &Y
A H DI IS 8 ?

(1) K ) F

3)H (4) E

1d cafad, 1vd, 7y, w1gd, 3y, Hiar, S sie hifa
Tdh gad H 93 € | TRE, 7 3R g Bl TS B |
3y, Hid 3R g B TSIy I & | Wi, Hien @
TSR 2 3R 3IY & T3 3R ¥R I R 431 7 |
IEd Bl Rerfa @ 2 2

(1) N & 918 SR RAeqmd a7 4

(2) w9 &R TRE & §ra |7

(3) O & T18 3R ey v WX

(4) 3FIET @ T8 3R AN WH )

afe A, B 9 50 Hiex Iar—uf¥e® # 8 3R C, B & 50
Hex IAR—Yd # &, 3R D, BA 50 Hiex cf@or# 2 ar A

o Ud R A P2 ?
(1) A 2) B
€))e (4) D

YE Pref B [ory oiTE /" Space for Rough Work
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37.

38.

390,

Ramesh is the father of Manideep. Ramesh has only
two children. Manideep is the brother of Niharika.
Niharika is the daughter of Kavita. Ananya is the
grand-daughter of Kavita. Sujit is the father of
Ananya. How is Suijit related to Manideep ?

(1) Son-in-law (2) Brother-in-law

(3) Son (4) Brother

Amit is the brother of Sonia. Jyoti is the sister of
Nikita. Sonia is the daughter of Satish's father.
Nikita is the daughter of Kavinder. Jyoti is the
mother of Amit. Mukesh is Nikita's only sister's
husband. How is Satish related to Kavinder ?

(1) Brother (2) Son-in-law

(3) Grandson (4) Son

Out of the given four letter-clusters, three are alike
in some way or the other and one is at variance
with them. Select the odd alphabet.

(1) ZDHLP (2) LPTXB

(3) QUYBG (4) BFINR

Four words have been given, out of which three
are alike in some way and one is different. Select
the odd word.
(1) Delhi

(3) Chandigarh

(2) Puducherry
(4) Jammu and Kashmir

CLASS-IX

37.

38.

39.

40.

Qﬁwnﬁmﬁqfﬁrﬁm%‘wﬁm%fhaaaﬁaﬁ?%mﬁmﬁn
feRan @1 91E 2 | FeRe sfaa & 9 2 | s=m
ST DI A & | Golld 301 &1 T 2 | Goiid P
AT | I Y © ?

(1) srIE (2) ere

(3) 9t (4) wrg

31fira | o1 4TS @ S ffeper &) g1 8 | Afer
Farer & fodr @ 98 8 e sfder F 981 2 | s
AT @1 A1 & | G HAfher & sHardl 984 &1 ufd
T | Fc1e] B Bidex | o1 99 © ?

(1) «g (2) a1

(3) 31/ (4) deT

QY Y AR eR—[E! | 4 Bl 7 5l yahR |
TP FHIF € 31 Uh S99 I/ 8 | S |/
JER—AHE DI TIT N |

(1) ZDHLP (2) LPTXB

(3) QUYBG (4) BFINR

IR 9 g 7Y E, f 9 i fooell bR & e €
3R T AT B | S SR T8 Bl aIT D |

(2) g
(4) ST 3R HeR

(1) et
(3) TSI
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PHYSICS (SECTION-C)

A body is moving with uniform acceleration. If its
initial velocity is 5 m/s and after 20 seconds it's
velocity becomes 25 m/s, the acceleration is :

(1) 1.5 m/s>

(2) 1m/s?

(3) 025 m/s’

(4)125 m/s?

If a car covers © th of total distance with v, speed

3
and gth of total distance with v, speed, then

average speed of the caris:

1
(M 3 ViV,

a.

4.

% fUvs THF @RV & A1 I @ 2 | IS SHDI
gRS I 5 m/s 2 3R 20 AHUS a1 gHST AT
25 m/s 81 SITdT 8, T @Rl 81 :

(1) 1.5 m/s?

(2) 1m/s?

(3) 0.25 m/s’

(4)1.25 m/s?

2 3
e Y BIR g8 B E¢nnv1ma®31“r? W

v, AT ¥ T Bl &, A1 A ared s -

1
M 3 ViV,

‘w’+\z‘2

@

2\."1\/ 2

€

v, +V,

5\!1\; )

(G B ——
3\:‘.] + 2V2
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43.

Velocity-time graph of a particle moving in a
straight line is shown in figure. In the time interval
from t =0 to t =14 sec, average speed of particle
is:

v(m/s)
20
R T NS LY i)
-10
(1 ?m/s (2)10 m/s
(3) 20 m/s (4)14 m/s

A body of mass 5 kg is moving on a smooth floor
in straight line with uniform velocity of 20 m/s
resultant force acting on the body is :

(1) 20 N (2) 100 N

(3) zero (4) 4N

CLASS-IX

43,

Mwﬁw@ﬁﬁwﬂn—wm%ﬁ
favarar T 8 | AT AR t = 0 W t = 14 Apvs B
& BT B 3T TATA B -

v(m/s)
20
Of——— 121 s
-10
v
(1) ? m/s (2)10 m/s
(3) 20 m/s (4)14 m/s

T 5 kg GTHH 61 U8 Yo fordet %el 0k U FHH
20 m/s F HNef v 7 A w2, a1 fuvs W

S aTell URUR 9o 81T
(20N (2)100 N
() ™ (4) 4N
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45.

46.

47.
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tecnd'=
A block of mass 10 kg is pushed with a force of
100N on a horizontal surface. If coefficient of
kinetic friction between the block and the surface
is 0.4, what is the acceleration of the block ?
(take g =10 m/s?)

(1)1 m/s’ (2) 6 m/s?

(3)3m/s? (4)10 m/s?

A ball of mass 0.5 kg is moving with velocity of
10 m/s is brought to rest by a constant force in 0.2
second. What is the magnitude of the force
applied to the ball ?

(1) 50 N (2)5N

(3) 25N (4) 25N

Electroplating is based on :

(1) Magnetic effect of electricity

(2) Chemical effect of electricity

(3) Heating effect of electricity

(4) Physical effect of electricity

CLASS-IX

45,

46.

47.

CODE : 2509

TS 10 kg TIHT &1 cifds Yap &farst e IR 100N &
I | gl 91 & | IS e MR |l & 99 e
YT TN 0.4 B, TN i Bl avoT fohe= 8 2
(A1 g = 10 m/s?)

(1) 1m/s? (2) 6 m/s?

3)3m/s? (4) 10 m/s?

TH 0.5 kg SHTE B I1E, S1110 m/s & I H T TET 8,
TP ReR 9a1 gRT 0.2 Hhvs | I STl & | 75 IR
ST g1 T IRATY fhd=1 2 ?

(50N ) 5N
(3)25N (4) 25N
fagpcreros anenRa grar 8 -

(1) faregga raara uWd IR
(2) fagga & wrarafs gva ©®

(3) fAEgd & S yHTEa W
(4) fazga & Hifa® ywEa W

Y% P13 ® 177 STT8 / Space for Rough Work
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48.

49.

50.

Which of the following is a correct statement ?

(1) All liquids conduct electricity

(2) Aluminium is an insulator

(3) All solids conduct electricity

(4) Sea water is a good conductor of electricity

According to law of reflection of light :

(1) Angle of indicence is equal to the angle of
reflection.

(2) Angle of incidence is less than the angle of
reflection

(3) Angle of incidence is greater than the angle
of reflection

(4) None of these

An object is placed at a distance of 20 cm from a

plane mirror. If the object is moved 5 cm toward

mirror, the relative change of distance of object

and its image is

(1) 40 cm

(3)10 cm

(2)30cm
(4)15cm

CLASS-IX

48, ﬁmﬁr@ﬁﬁﬁaﬁ?wmﬂﬁ%?

49,

50.

(1) 9t %a g &1 e oRd € |

(2) TATIE U s ¢ |

(3) w1 31 faggd @1 e v € |

(4) T STt faera @1 3resT s BT € |
JehTel B URTC & (I & TR -

(1) 3ITIFH BT URTI DIV & SRTER Il 2 |

(2) ST HIT URTIT DIV H HH Bl & |

(3) 3MIT BIVT URTAAH PHIvT A TST BNl € |

(4) 379 Q@ DTS 7TE
T g I U FHIS GUTT | 20 cm I g1 IR &l
T 8 | IS IR Y TUVT BT R 5 cm F ST ST 2,
1 a¥g 31R S9a ufafaw & 9 a1 531 9 |l gRac
B :

(140 cm
(3)10cm

(2)30cm
(4)15 cm
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CHEMISTRY (SECTION-D)

The smallest particle of an element that retains

all the properties of that element is called a(n):

(1) Atom

(2) Molecule

(3) Compound

(4) lon

Which of the following statements accurately

describe pure substances?

l.  Pure substances consist of only one type of
particles.

Il. Pure substances can be compounds or
mixtures.

lll. Pure substances maintain a consistent
composition throughout.

IV. Pure substances are exemplified by all
elements except nickel.

(M 1and Il (2) land Il

(3) Il and IV (4) Il and Il

51

52,

fordl e 1 AT BICT BT W1 I oIcd B AT 01 Pl
RPN I B, HEATT & :

(1) oxET]

(2) 317

(3) s

(4) 3T

FrfaRad # & 319 A1 A Yg yaell &1 daéa
qofe FHRaT g ?

| g U=l § &9 TP € UHR B HOTE ¢ |

I g uere e a1 fystor 81 | |

Il & UeTel FYUl U A Y G Ha1 §1Y &
&

IV. el Bl BledR |l dedl §RT Yg Uaredl @
IeTevyl faan San 2 |

M 131 (2) 1 3R 1

(3) Il 3R IV (4) 11 3= 111
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53. Two substances, A and B, react to form a third | 53.
substance, A,B, according to the following

reaction: 2A + B — A,B

Which of the following statements concerning this

reaction are incorrect?

. The product A,B shows the properties of
substances A and B.

Il. The product will always have a fixed
composition.

lll. The product so formed cannot be classified as
a compound.

IV. The product so formed is an element.

(M landll (2) land IV

3) lll and IV (4) Iand Il

54,  Whenagasjar full of airis placed upside down on | 54.

a gas jar full of bromine vapours, the red-brown

vapours of bromine from the lower jar go upward

into the jar containing air. In this experiment?

(1) Air is heavier than bromine

(2) Both bromine and air have the same density

(3) Bromine is heavier than air

(4) Bromine cannot be heavier than air because it
is going upwards against gravity

CLC

R tecnd'=
aﬁwﬁ,Aaﬁ?B,ﬁmﬁfﬁqaq%mf%mww
<Rt ugred, A,B 999 & forg ufarferan o €
2A+B—>AB

9 ufafshan & Ty # fFafeRad § & @4 |1 B
Tefd © ?

. ScuTE A,B UETe A 3R B & VI &I &¥ia & |

Il. Scare @ g9 Ua fAf¥ad wxar sl |

Il. S UBR 99 IS B AMfH & B H iied T8
o S w2 |

IV. 39 UeR fid Sare e ad 2 |

() 13RI 2) Il R IV

(3) 3R IV (4) 13RIl

19 9T | ¥R 9 OTR I S a9 A WY T 9IR I)

Iecl X1 STl 8, a1 el SR | i @ drd—99)

T BT dTel TR H FHUR P MR il ST & | 59 AT

7 ?

(1) arg S AR B |

(2) ST 3R aTg SH1 B B9 T B

OEREEEIREINE

(4) 9119 ga1 | ¥R 981 8 9dhal & @dife I8
TEATHYT & fawg HUR 1 MR T 38T 2

Y% 1 B [o7v S8/ Space for Rough Work
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56.

CLC
tecnd=
Which of the following statement is not correct?
(1) Substances that exist as liquids at room

temperature typically have melting and boiling
points lower than that of room temperature.

(2) The process in which a substance transitions
directly from a solid to a gas state without
going through the liquid state is known as
sublimation.

(3) To convert a temperature from the Celsius
scale to the Kelvin scale, add 273 to the given
temperature.

(4) The density of ice is lower than that of water.

Which one of the following set of phenomena

would increase on raising the temperature?

(1) Diffusion, evaporation, compression of gases

(2) Evaporation, compression of gases, solubility

(3) Evaporation, diffusion, expansion of gases

(4) Evaporation, solubility, diffusion, compression
of gases

CLASS-IX

55.

56.

CODE : 2509

17 November, 2024

faforRaa & & i a1 o e T 8 ?

(1) S ueTed HFR B aIEH WR a)d gt & wu H
ANE B 8, STdT Taid 3R Faid AR
R R & AIIHT o BH eIl & |

(2) a8 ufhan RraH 313 g dva 3raRel | ok
o <fier o & I srazen § gRafdd & rar g,
ST HEAT ¢ |

(3) fr< arome @1 afeaas 9= 9 Sfeas U= 4
geom @ forg fg 71g a7 273 S |

(4) 9% BT I U B BT I HH BT 2 |

qUEE g™ R fFrAfalad § 9 49 1 ged 9
ST ?

(1) 91 BT UER, arsfieRer, HuireH

(2) gredieron, 1 D1 HAUreH, gareiterd

(3) 11 BT IR, TR, faRdaR

(4) =41 @1 Jredievor, geeiiedr, TER, Jured

YE @1 B 77 57778/ Space for Rough Work
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57.

58,

59,

60.

Like fuel the sun also provides heat and light. The
process taking place in the sun is called

(1) Combustion

(2) Nuclear process

(3) Burning

(4) All of these

Burning of charcoal in a closed room will produce
(1) Carbon dioxide

(2) Nitrogen dioxide

(3) Carbon monoxide

(4) All of these

Which of the following is used as an industrial fuel?

(1) Coal gas

(2) Nitrogen gas

(3) Carbon dioxide gas

(4) All of the above
Petroleumisa_______ solution.
(1) Liquid-liquid

(2) Gas-gas

(3) Liquid-solid

(4) All of the above

CLASS-IX

57.

58.

59.

60.

¢ B e gA 4l d»weﬁ’\!ucmw T Dl %‘HI-E?
H B arell ufshan dger € —

(1) a&

(2) =Ti¥resT ufehan

(3) STerT

(4) 3 T+

I B H BHIIAT ST A ST BT
VEZERESIECIESIES

(P RIEFEREIESICSIES

(3) 7 AARITRISS

(4) 3 T+

fafaRad 7 9 fordar ST e S99 & SU H
foran ST 2 ?

(1) P 4

(2) ARSI

(O EIERESIESIESIESRIR]

(4) SURIFT a1

Ueiferm e _______faeaHe |

(1) TRA—a<el

(2) -

(3) ReA—3I

(4) SURIFT a1
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BIOLOGY (SECTION-E)

61. Which structure performs the function of | 61. @RIl WRaAT SATY] # ATSEIHI=gAT BT BT Bl B
mitochondria in bacteria ? ?
(1) Nucleoid (2) Ribosome (1) aFelss (2) TSSH
(3) Cell wall (4) Mesosome (3) &Rt fafa (4) FEIHTT
62.  Which of the following organelles contain DNA ? | 62.  fer=iferRad sif¥re i # & forad STt vaar g ?
(i) Mitochondria (i) #rgcraifegan
(i) Chloroplast (i) eRTeTa®
(iii) Golgi bodies (iii) TifestraTa
(iv) Ribosomes (iv) TSEAH
(1) (i) and (ii) (2) (ii) and (iii) (1) (i) 37 (i) (2) (ii) 3R (iii)
(3) Only (i) (4) Only (ii) (3) ®ad (i) (4) ®ad (ii)
63.  Which of the following is non-membranous cell | 63. 7= % & @ ¥ f3reel! I2d BRI E ?
organelles?
(1) Ribosome, Centrosome (1) YTZEMH, ARG G
(2) Nucleus, Mitochondria (2) D=p, ATSCIBI~gA
(3) Lysosome, Ribosome (3) <A™, MM
(4) Golgibody, Lysosome (4) TiteotiaT, ATSATEM
64. Parts of grasses removed by the grazing herbivores | 64. a3+ aTel YMBIERI SIgail §RT BV Y 619 & 2T
are regenerated due to the activity of - forsrant AT & HROT gAiifad 81 S ©
(1) Apical meristem (1) 3ver favsaas
(2) Intercalary meristem (2) sradsh favsaras
(3) Lateral meristem (3) ured fawsds
(4) Cambium (4) Ten

YE Pref B [ory oiTE /" Space for Rough Work
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65. Match the columns - 65.

66.

67.

CODE : 2509

Column-I Column-II

(A) Nervous tissue (i) Cartilage

(B) Cardiac muscle (ii) Attach bone to bone
(C) Tip of nose (iii) Excitement

(D) Ligament (iv) Intercalated disc

Code:

A B C D
(1) iii i i iv
() ii i iii iv
(3) iii iv i ii
(4) i i iv iii

The inability to absorb digested nutrients may be
due to damage of which type of epithelium -

(1) Ciliated columnar

(2) Simple columnar

(3) Simple squamous

(4) Simple cuboidal

Structures present in a cell which is responsible
for determination of the sex of a baby is -

(1) Cytoplasm

(2) Nucleus

(3) Cell membrane

(4) Chromosome

66.

67.

) iii i i iv
Q) i i i iv
@) iii iv i i
@) i i iv i

HITA THR B STB! P eIz 8 | uferd urgat
BT J[ALNYUT BIF H SIAHT B bl ©

(1) UeHATDIT FFHTHR

(2) TR WHHTBR

(3) X STl

(4) TS TTBR

BIfTeRT # IURIT g8 Txa- o1 fRrg & for fReivo
@ forg ReeR ekl 2, 98 @

VEAUNEIEE

() d=d

(3) PIferaT fRreet

(4) oL
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68. Which of the following is the secondary sexual

characteristics in females ?
(1) Low pitced voice
(2) Broadening of chest
(3) Broadening of pelvic region
(4) Developing Adam's apple
69. The part of a seed which grows and develops into
root during germination is -
(1) Cotyledon
(2) Plumule
(3) Ovule
(4) Radicle
70. Functional megaspore in an angiosperm develop
into -
(1) Endosperm

(2) Embryo sac
(3) Embryo
(4) Ovule

CLASS-IX

68.

69.

70.

CODE : 2509
Higerai # feforRad § 9 o a1 fgdraes oifire eror
g
(1) Y 3raTSt
(2) TET 9T BT AreT BT
(3) &Il &1 1 ArST BT
(4) TSH UOE BT faerT Bl
IS BT T8 AT TN SFRVI D SR gfeg BT & 3R oS
# faapfad a1 Sar g, a8 8
VEISEE!
(2) wTR
OEISIS
(4) TeATgR
TRTIT (RMgadiotl) # BRITHS HIRAR (THaT])
et faafRya gran &
(1) 3oTay
(2) yorpTy
@) g
(OEISIS
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